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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version Authentic
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Discuss the rules of limit.
if f(x)=1-[1/x + 1/x2] find the value of f(-1), f(-2) and (1/2)
Evaluate
lim X +x-6
x—2 x’-5x+6

oo XX X e dy
W= 35 MK

Draw the graph of linear inequality 3 x 4 y > 12
Explain lattice points.
Draw a graph of system linear inequalities
Y<2and X+Y <4

OR
Explain the following :

1) Optimum points (2) system of linear inequalities

Write the meaning and uses of linear programming.

A man borrowed Rs. 1,60,000 at 8% Compound Interest and agrees

to Pay both the principal and interest in 12 equal annual instalments at

the end of each year. Find the amount of Instalments.

OR

A mini bus can carry maximum 15 Passengers and Maximum luggage of
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(07)
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48 Kgs. Each boy has 4 Kgs. of luggage and each girl has 3 Kgs. of luggage
Passengers fare for each boy is Rs.7 and that of each girl is Rs.6 How many
Boys and girl’s should a mini bus carry to earn maximum income (linear

Programming method).

(B) Explain the following terms: (06)
(1) Annuities (2) Trade discount (3) Banker’s gain

Q-4

(A) (1) How many sums of three digits can be framed using digits 1,2,4,7,8, (04)
and 9? How many of them will be grater than 800?
2If nc, 7 findn (03)
nc, 4
(B) (i) Obtain the rank of ‘DHIREN’ in alphabetic dictionary (04)
(i1) If npy= 42 find n. (03)
OR
Q-4

(A) (1) In how many ways a committee of 3 Gujaratis and Punjabis be framed from  (04)
15 Gujaratis and 5 punjabis
(i) If nP; 2210 findn (03)

(B)(1) in a box then are 5 Red 3 Green and 2 White balls. in how many ways three (04)

balls of (i) different colour (ii) Same colour can be selected out of it.

(i) in an arithmetic series T3=2 and Ty = - 16 find T;s (03)
Q-5
(A) (i) in an arithmetic Progression if a=3, d=5 and T,- 223, find number of terms ‘n’ (04)
(ii) in an arithmetic Progression 3,8,13,18............... find the sum of first 50 terms. (03)
(B)  An arithmetic progression consists of three numbers sum of these (07)
numbers is 27 and sum of their squares is 341, find these numbers.
OR
Q-5
(A)  Pankaj deposits Rs. 5000 at the and of every year at 15% rate (07)

of compound interest in a Bank. Find out what amount would be

receive at the end of 10 years.



(B)

Manoj discounts with the bank a bill of Rs.25000 for 4 months at

15%. Find out Banker’s discount, True discount and Banker’s gain.
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